A # B B =

%T

£ A = Sf 5 & 4 A 21 H FRI9EF405
At /P FLALETRIBAIT2ME 2012538

I 5 & 5 K-3

I % 4 BEXOHLEREBRURIFICH I XEBETIS
I %= 15 kR EMCIET ROBF A

FE i & (Brid) 25,215,300 H Adsnmids @i 22,923,000 A
B 1E HI IR ffi 4% (Bi3A) 23,177,000 H  As=wsdms @ik 21,070,000 M

FREHE (BRA) 23,177,000 H =H& &% (Hk) 21,070,000 M

XE4 A # m &
BRRFERRA 21,070,000 (< L) ##iRE
KA ERR 21,070, 000| (<L)
e 21,780, 000
NI FRBEHA A 22,923, 000
KA AKRER ~-| (#R)
JISHERR MR R4 ~-| (#R)
SRERBRRM ~-| (#:R)

EFEAFLEEICI00DI0(CHHL T S8 ZME L -SRI 25 E#HHA L
DHAHCIRDHMEETH D




